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To be able to add decimals within 1 

ones tenths hundredths thousandths 

 
 
 

 
 
 

Two tenths more than the number shown would be  

If I added 5 hundredths to the number, I would make   

_ thousandths would need to be added before the hundredths digit changes. 

To be able to add decimals within 1 

0.66 + 0.07 = 0.73 

To be able to add decimals within 1 
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To be able to add decimals within 1 

0.06 + 0.7 + 0.005 

0.3 + 0.02 + 0.5 

0.8 + 0.007 + 0.1 

0.6 + 0.007 + 0.05 

0.4 + 0.02 + 0.4 

0.001 + 0.1 + 0.9 

To be able to add decimals within 1 



To be able to add decimals within 1 

0.52 + 0.4 = 0.524 


